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(i) Counting and identifying the elderly people in the nursing home
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(2 marks)

(i) Opening the door of a bedroom

(2 marks)
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In each bedroom, there are some devices such as a blood pressure mox}itor and a m
monitor. Mr Wong considers using a smart wristband to connect those devices to form a Wirelessg;" lo,
S

area network (WPAN). Ty

Blood pressure monitor

o ))) Blood oxygen level monitor

Smart
wristband

Bedroom

(b) Give two technical reasons to support the use of WPAN, instead of other kinds of network, ;
bedrooms. 1ty

—_—

—_—

—_—

(2 marks

(c) Give another daily life example of 2 WPAN application and state the devices and wireless technolog
involved.

(2 marks
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E Amy sets up a WiFi network in the office below.

RN

Office

Door

(@ (1) What should Amy consider when deciding on the number of Acces
the office? Give three technical considerations.

—

Door

s Points (APs) tg pe inStaned.
ln

—

—

(i) CSMA/CA is adopted in this WiFi network. Briefly describe how collisions are avoided.

3 mariy §

Answers written in the margins will not be marked.




- stall four APs on the WiF; Betwork i, the fficg
pls® '
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1) sSID for all APs
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WPA and WPA2 are available in the security
©

(1 mark)
: settings of the network. How cap WPA and WpA2
enhance the security?
o (1 mark)
Amy wants to enhance network security. Describe
()] username and password.

a method of controlling network access, other than

the margins will not be marked.
n

(2 marks)




ing 802.1 1g, 802.11n and 802.11ac.

cation protocols includ

(¢) The APs support communi
transmission?

the use of 8 communicati

(i) Whatis
///A
///’\
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on protocol in data

(i) Give tWo major technical differences between these communication protocols
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(3 marks)
In Topology B, when a node is under maintenance, the remaining nodes cannot communicate with
each Other . why?
J——

48in8 TopologonrTopologyBlohnldg

Topolo® A

ication mode in a network ugip
1he com™ :-t:;smitted in the network, . T0pology A'is haif duplex, By
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P

1n each of the following cases, can A and A; communicage With each other?

/ Case :
/ Commumcation between A, and A, (Yes/No)

Az shut down.

/ 3 —\\
The connection between Az and the bus is broken,

(2 marks)

e will not be marked.
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pus is out of order.

(2 marks)
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(d) Mr Li plans to create two subnets, D1 and D2, in the network. Each subnet consists of N
The details are: 00

IP address: 192.168.x.y (0<x<255,0<y<255)
(i) Suggest full IP address ranges and subnet masks for D1 and D2.

D1

Full IP address range:

Subnet mask:

D2
Full IP address range:

) ) J

Subnet mask:

(ii) Mr Li wants to further divide D1 into two subnets, D1a and D1b, where each subnet ¢, .
100 devices. Suggest full IP address ranges and subnet masks for these twWo new subnetg, S o

Dla

Full IP address range:
|

Subnet mask:

Dib

Full IP address range:
—
Subnet mask:

(2 marky)
(¢) Mr Liplans to divide D2 into four subnets. Give two advantages of this plan. ‘

(2 marky
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of ov
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a server on the network

®)

Ms N8 puilds 8 network

© Give
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—
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£Wo technical reas
ons why Ms N
g should not build a P2P
network to
provide a fil
e sharin,
g

(2 marks)
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